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Section Marks : 52

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897895
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896489 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut  will launch the Start menu.
Options :

1. # Esc

2. % Shift

3. ¥ Windows

4. % Ctrl

Question Number : 1 Question Id : 2549896489 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Frg & Q P 1 F1-91E Tidepe, @rd Ay ) Gherell &2
Options :

1. % Esc

2. * Shift

3. ¥ Windows

4. % Ctrl

Question Number : 2 Question Id : 2549896867 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
There are bits in one byte.

Options :
1. % 4
2.8
3.% 16
4, % 32

Question Number : 2 Question Id : 2549896867 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
% §15c ¥ fhdn faew g &2
Options :

1. % 4

2.4°38
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3.% 16
4, % 32

Question Number : 3 Question Id : 2549896880 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Notebook computer belongs to which generation of computers?
Options :

1. # First

2. ® Second

3. # Fourth

4. ¢ Fifth

Question Number : 3 Question Id : 2549896880 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Tege SR 5y did & HoeR I Tafid 32
Options :

1. ¥ Ugdl

2. % XTI

3. % T

4. ¢ UrEIdai

Question Number : 4 Question Id : 2549897085 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

CAE is the use of computer software to simulate performance to improve product designs or assist in the resolution of engineering
problems for a wide range of industries. What is the full form of CAE?

Options :

1. # Computer-analogy engineering
2. ¥ Computer-aided engineering
3. % Computer-aided entertainment

4. % Congruent-aided engineering

Question Number : 4 Question Id : 2549897085 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

CAE ST f&O8- ¥ GUR & A UG &1 3HR01 H=A a1 SN D1 U [ YT & Q7T SO =g JHmsfi &
U o TSRl R & Il Hgex TIHedeR BT IUURT & | CAE H1 Ul U 1 §2
Options :

1. % HYCI-TATISH SOl
2. ¥ HYRUSS WG

3. % HPYR-UsS UeicTHC
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4. % PIYTT-USS SoilTRIT

Question Number : 5 Question Id : 2549897533 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which keyboard shortcut is used to go and select text to start of document in OpenOffice.org writer?
Options :

1. ® Alt + Home

2. % Ctrl + Shift + Home

3. # Ctrl + Home

4. % Home

Question Number : 5 Question Id : 2549897533 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

OpenOfﬁce.orgWﬁf@?ﬁ@&ﬁﬁ@ﬁﬁﬁ%ﬁﬂgmmwwwmm%?
Options :

1. # Alt + Home

2. % Ctrl + Shift + Home

3. ® Ctrl + Home

4. % Home

Question Number : 6 Question Id : 2549898469 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which function returns the number of periods for an investment in Microsoft Excel?
Options :

1. ¥ NPER function

2. % TPERIOD function

3. % TNPERIOD function

4. % TNPER function

Question Number : 6 Question Id : 2549898469 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

CACK:I] WA Microsoft Excel H =T %ﬁ‘l'q 3afery Y =T AeTar %‘?
Options :

1. ¥ NPER haRMH

2. % TPERIOD HhaRM

3. % TNPERIOD o=

4. % TNPER R
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Question Number : 7 Question Id : 2549898811 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft PowerPoint, a is used to hold the text, pictures and charts.
Options :

1. % Scroll bar

2. ¥ Placeholder

3. # Quick Access toolbar

4. % Title bar

Question Number : 7 Question Id : 2549898811 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft PowerPoint ﬁ, %W,ﬁa@?aﬁaﬁmﬁai%u WWWW%I
Options :

1. % BpId OR

2. ¥ WIS

3. % fohh TR TAaR

4, ® CIgCAdR

Question Number : 8 Question Id : 2549899340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

__ determines the clarity and sharpness of a computer screen image.
Options :

1. ¥ Low fidelity

2. # High fidelity

3. % View option

4. ¥ Resolution

Question Number : 8 Question Id : 2549899340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

SR T S $1 WaT 3R R &1 Fufor g & 3 feus grigiare?

Options :

1. ® %Y 8T (Low Fidelity)
2. % 3= 98T (High Fidelity)
3. % o 3w

4. ¢ RefleggH

Question Number : 9 Question Id : 25498911716 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following statements is NOT valid about the magnetic tape?
Options :

1. # It is a plastic ribbon.

2. # Tt is coated on both sides with iron oxide.

3. # It can be erased and reused.

4. ¥ Tt cannot be used as a storage medium.

Question Number : 9 Question Id : 25498911716 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
JIBR ¢U & oy H 9 T § DI I HYUF Y 181 82

Options :

1. % I8 T WIRed RaA g

2. % TP I R SR SRTSS BT TR IG1 8l &

3. % 3 fiern 3R .3 & o 9 dT g |

4. ¢ TTHT IUTNT HSRU ATH & =Y H 78} fobam o I 7

Question Number : 10 Question Id : 25498922520 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
In the flat file database, each line of the plain-text file holds only one record. These records are separated using delimiters called

Options :

1. ¥ tab

2. ® paragraph marks
3. ¥ back slash

4. % asterisk

Question Number : 10 Question Id : 25498922520 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

RiC HIed Sy H, W ¢e BIsd &1 U@ Ufdd § dad U Rabls aidl g1 57 RbIed &l A URTAD!
(delimiters) BT IUTNT B 3T fbaT ST B

Options :

1. ¢ 9 (Tab)

2. % RTUTG AR (Paragraph Marks)
3. % 9% WY (Back Slash)

4. % dRID (Asterisk)

Question Number : 11 Question Id : 25498929850 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The presentation in Microsoft PowerPoint is saved with extension.
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Options :
1. ¥ ptpx
2. ¥ pptx
3. % pttx
4. % tppx

Question Number : 11 Question Id : 25498929850 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Microsoft PowerPoint & TSI ¢S &I Qa'\‘:l%Q'lT‘f & 1Y T foogr Srdr % |
Options :

1. % ptpx

2. ¥ pptx
3. % pttx
4. % tppx

Question Number : 12 Question Id : 25498930068 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following device performs the same basic function as a hard drive, but data is instead stored on interconnected flash-
memory chips that retain the data even when there is no power flowing through them?

Options :

1. # Cache memory chip
2. # Dynamic RAM

3. # Static RAM

4. % Solid State drive

Question Number : 12 Question Id : 25498930068 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fafifad & @ o9 W1 USRI ETS I15d & JHH Hd BT BT 5, A STl Pl Sexb-dcs Fa-AHRT forey IR Tugld
T ST 8 STt ST &) a9 i §91E Rad1 § 519 S ATenH A B fSoiel vaned gl gl 82

Options :

1. % B AAR (Cache memory chip)
2. % STOAHEH XY (Dynamic RAM)

3. % WfedH XM (Static RAM)

4. ¥ TS T 3139 (Solid State drive)

Question Number : 13 Question Id : 25498930619 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
is used to draw complex design and graphs, charts.
Options :
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1. ¥ Flatbed plotter
2. % Flatbed scanner
3. ¥ Drum plotter

4. #® Inkjet printer

Question Number : 13 Question Id : 25498930619 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
1 IUUN Wfeet FEwg 3R U1, =1 s & fore fobar s g |
Options :
1. ¥ RIS WX
2. % TRICHS W R
3. % S WICR

4. % IPpolc e

Question Number : 14 Question Id : 25498930888 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Thereare  types of plotters.
Options :

1. % one

2. % five

3. ¥ three

4. % six

Question Number : 14 Question Id : 25498930888 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
wieR fhd ThR & B 82

Options :

1. ¥ Th

2. % U9

3. diF

4, % 95

Question Number : 15 Question Id : 25498930922 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The Cathode Ray Tube (CRT) display consists of small picture elements known as
Options :

1. # parameters

2. ¥ pixels

3. #* jcons
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4. # pictures

Question Number : 15 Question Id : 25498930922 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

$HUIS ¥ ogd (CRT) f¥a # Bic fod dd gid & o8 & &Y H ST S8
Options :

1. % TRIHR

2. ¢ U

3. % 3MZHHA

4. % fURR

Question Number : 16 Question Id : 2549897745 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

PERL stands for:

Options :

1. ¢ Practical Extraction and Report Language
2. ® Previous Examination and Report Language
3. # Practical Examination and Report Language

4. % Practical Extraction and Rewritten Language

Question Number : 16 Question Id : 2549897745 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Ud (PERL) &1 JUf &7 &1 87

Options :

1. ¥ Practical Extraction and Report Language (Dfochom QOFHEC#%I"I TS fard m

2. # Previous Examination and Report Language (Cﬂﬁw Q’GT&@"\’FI '] faard %ﬁé\—sr)
3. # Practical Examination and Report Language (ﬁﬁw TR U8 Rad a‘a\_ﬂ)

4. # Practical Extraction and Rewritten Language (afo?cqm QQHEONI"I ws e é”aﬁ)

Question Number : 17 Question Id : 2549899432 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

If we want to print a page in vertical orientation, then which of the following is a CORRECT option?
Options :

1. # Landscape

2. ¥ Portrait

3. # Both Landscape and Portrait

4. # Diagonal
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Question Number : 17 Question Id : 2549899432 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

3fe &0 el U9 &1 afdaa offvuem & fife s ared ©, @) Fafafea o 9 o1 w1 98 fdeed o2
Options :

1. % dsWhy (Landscape)

2. th_‘g_f_c' (Portrait)

3. % deWpu (Landscape) 3R uﬁ‘d (Portrait) gl

4. % fauif

Question Number : 18 Question Id : 2549899496 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

What is 'Finishing' in the Printer Properties?

Options :

1. ¢ It allows you to print multiple copies and enables to set the order of pages.
2. # When printing a single page, it enables to set the order of pages.

3. ¥ When printing multiple copies, it disables to set the order of pages

4. # When printing multiple copies, it enables the order of printers

Question Number : 18 Question Id : 2549899496 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fifex UTaela & 'Finishing (FBMRAT) 182

Options :

1. ¢ 3MTU! Hs Ul flic S &1 SAfd <aT 8 3R I8 U8 & HH DI e I3 § J&H Sl ¢ |
2. % U Thd U§ P flic Hd G0, T8 U§ & HH I I¢ B § G&H S 5|

3. % Fg Ul &1 fife B THT, T8 US & HH &1 U B | el S 8 |

4. % F yierdl &I flic Hd 9o, I8 fiiex & 1 3l ¥ HA T G&H a1 5|

Question Number : 19 Question Id : 25498910829 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-impact printer?
Options :

1. # Daisy Wheel printer

2. ® Dot-Matrix printer

3. % Thermal printer

4. # Drum printer

Question Number : 19 Question Id : 25498910829 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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Rrafifed § 3 FH-a, T A3 fiex &7
Options :

1. % Soll Bid fUiex

2. % gle-Afeay fifex

3. ¢ yid fifex

4. % SR

Question Number : 20 Question Id : 25498910998 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which device is used to share data for a shorter distance?
Options :

1. #¥ Microwave

2. % Satellite

3. # Co-axial cable

4. ¥ Bluetooth

Question Number : 20 Question Id : 25498910998 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

HH 8 & o ST I (AR B B R g fEargs o1 SuzinT o orar 82
Options :

1. % HIZchldd

2. % JdRC

3. % DI-URITA Hael

4. Y

Question Number : 21 Question Id : 25498911125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a solid font printer?
Options :

1. # Inkjet printer

2. % Laser printer

3. # LED printer
4. % Band printer

Question Number : 21 Question Id : 25498911125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
frofafed o @ o 91t Hifere Wi filer 82
Options :

1. ® Fpolc e
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2. % ToR fiex
3. % LED fliex
4. ¢ ds fiier

Question Number : 22 Question Id : 25498911154 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an Operating System?
Options :

1. ¥ DragonFlyBSD

2. ®% MS-Word

3. ¥ MS-Paint

4. ¥ MS-PowerPoint

Question Number : 22 Question Id : 25498911154 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Profifed # § P ue fRfe Rremr &
Options :

1. ¢ STRIEBSD

2. % MS-Word

3. % MS-Paint

4. # MS-PowerPoint

Question Number : 23 Question Id : 25498911225 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A typical CD consists of reflective layer coated with:
Options :

1. # brass

2. % zinc

3. ¥ mercury

4. % aluminium

Question Number : 23 Question Id : 25498911225 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
TH I et (D) H 9 & Iry aftd WRiads 1R gl &
Options :

1. ® diad &t
2. % SRA B
3. % QR &t
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4. Ve Y

Question Number : 24 Question Id : 25498913411 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Reduction of data is needed in case of:
Options :

1. # image equalisation

2. # image enhancement

3. ¥ image compression

4. # image normalisation

Question Number : 24 Question Id : 25498913411 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

o A # ST & g (RSaRM) &1 SHTaadhdl gidl 82
Options :

1. % [ HAZOIRMA (Image Equalisation)

2. % foF TgiaHe (Image Enhancement)

3. ¢ T ddted (Image Compression)

4. % g AHARSIRM (Image Normalisation)

Question Number : 25 Question Id : 25498913485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which is of the following is NOT a step of JPEG compression?
Options :

1. % DCT

2. # Quantization

3. ¥ Encoding

4. ¥ Summation of pixel intensities

Question Number : 25 Question Id : 25498913485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
IBEREES] ﬁ:f—m, JPEG Fcﬂ?;:f (Compression) T Udh <R[ (Step) Tl %?

Options :

1. % DCT

2. % JHHIGHR (Quantization)
3. % TRIET

4. ¢ fUFTd digdr & Jhad (Summation of pixel intensities)
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Question Number : 26 Question Id : 25498913833 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT produced by the hash function in cryptography?
Options :

1. # Hash Value

2. ® Message Digest

3. # Digital Fingerprint

4. ¥ Digital Watermark

Question Number : 26 Question Id : 25498913833 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

foroTe! H B oM & gR1 fAufafad o @ frd v e fopan Sirar 82

4. « f&fSred areared

Question Number : 27 Question Id : 25498918500 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
In color inkjet cartridge, the ink is in primary pigments , and
Options :

1. ¥ cyan, magenta and yellow
2. # green, red and yellow
3. # green, magenta and yellow

4. % cyan, red and yellow

Question Number : 27 Question Id : 25498918500 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

HER SHoIc Plfed |, TSI Ui gufew : 3R b R A
Options :

1. ¢ e gld (Cyan), maﬁ (Magenta) 3R o

2. % T, 919 SR Ui

3. % g, F‘ITI%*ITITW ST (Magenta) 3Rt
4. % Ha1 s8R (Cyan), a1 3R A

Question Number : 28 Question Id : 25498924582 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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What is the full form of RSS?
Options :

1. # Real Simple Syndication
2. ® Real Single Syndication
3. # Really Single Syndication
4. ¥ Really Simple Syndication

Question Number : 28 Question Id : 25498924582 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

RSS &1 JUf & (QRT 71H) 7 82
Options :

1. % Real Simple Syndication (Raa Rrua Rifgdzr)

2. # Real Single Syndication (mﬂ e ﬁ'rﬁs’%‘{r:r)

3. # Really Single Syndication (ﬁﬂ?ﬁﬁhﬂﬁﬁ%ﬁ%
4. ¢ Really Simple Syndication (Raal Rrud Rifsoem)

Question Number : 29 Question Id : 25498938495 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a webmail provider?
Options :

1. ® Gmail

2. % Outlook

3. ¥ Kloser

4. # Yahoo

Question Number : 29 Question Id : 25498938495 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
fFafead # @ $19-91, T doid Uardl 7ol 87
Options :

1. % SHHA (Gmail)

2. % 313D (Outlook)
3. ¢ TR (Kloser)

4. ® TIg (Yahoo)

Question Number : 30 Question Id : 25498940408 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Name an evaluation technique to assess the quality of test cases.
Options :

1. # Verification
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2. ¥ Mutation analysis
3. ¥ Validation

4. % Performance analysis

Question Number : 30 Question Id : 25498940408 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

TRI&UT B (test cases) DI U BT eI B & [A¢ U oAb A1 1 ATH Jd |
Options :

1. # HATYF (Verification)

2. IR fawamm (Mutation analysis)

3. % HYDHRU (Validation)

4. % U—Q'_Qf'_‘f IEESLLY (Performance analysis)

Question Number : 31 Question Id : 2549896760 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which button in MS-Word is used when you want to copy formatting from one object or text to another?
Options :

1. ¥ Format Painter

2. % Header

3. % Subscript

4. # Superscript

Question Number : 31 Question Id : 2549896760 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
T 30 U 3fieolae a1 CRE B BIH T Bl fhd gu Sfieside a1 Cae H iUl BT I18d g, dl MS-Word H fhg de &1
SO {3 STl 82

Options :

1. ¢ Hife Uex
2. % g

3. % gafepy

4. % gIRIEHY

Question Number : 32 Question Id : 2549899065 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
World Wide Web was founded by
Options :

1. # Bill Gates

2. % Linus Torvalds

3. % Tim Berners-Lee
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4. # Steve Jobs

Question Number : 32 Question Id : 2549899065 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

IS d13S a8 (WWW) B RITTHT fhds gRT & T2
Options :

1. % fod gy

2. % Y CRATEY

3. ¢ fer et

4. % g sy

Question Number : 33 Question Id : 2549899134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
tag indicates start of the HTML document.
Options :

| v <HTML>

, % <BODY>

3 x <TITLE>

Question Number : 33 Question Id : 2549899134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
&, HTML SIagHT Pt Y33M1d B g |

Options :

| v <HIML>
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Question Number : 34 Question Id : 25498911066 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The full form of CUI is .
Options :

1. % Character User Interface

2. ® Character Under Interface

3. # Command User Interchange

4. # Command Under Interchange

Question Number : 34 Question Id : 25498911066 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

CUI &1 JUi&y a1 87

Options :

1. ¥ Character User Interface (&3{0}(‘.{ ok éCQLhH)

2. # Character Under Interface (&3{0}(‘,{3{3? 'i;dﬁhh{-l)

3. % Command User Interchange (HHIS JoR Sl
4. # Command Under Interchange CLIEEMEREN))

Question Number : 35 Question Id : 25498911869 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In 1970, Alan Kay invented the first object-oriented programming language called
Options :

1. ¥ Tablet Comp

2. # Kiddi Comp

3. # Kudo Comp

4. ¥ Smalltalk

Question Number : 35 Question Id : 25498911869 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

1970 ﬁ, U $U (Alan Kay) Bl % Uga! \’ﬁ@?ﬁf—\ﬂ”m ¢S TIUTREAT HTeT (object-oriented programming language)
1 3MAshR foba|

Options :

1. % Cqqic B
2. % fhgl iy
3. % Hel By

4. " HIACIH

Question Number : 36 Question Id : 25498911941 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes
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Correct Marks : 1 Wrong Marks : 0

A computer can only understand directly.
Options :

1. ¥ machine language

2. % algorithms

3. # high-level language

4. % middle-level language

Question Number : 36 Question Id : 25498911941 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

HYR Had DI N A TH AT ¢ |
Options :

1. ¢ TR ofaw

2. % TANREH

3. % gTs Aad oo

4. % THf$d dad oo

Question Number : 37 Question Id : 25498912494 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In Windows 10, is the recent replacement of the old Control Panel.
Options :

1. ¥ Control app

2. ¥ Settings app

3. % System app

4. % Cortana

Question Number : 37 Question Id : 25498912494 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Windows 10 ¥, RM FHeld Ud BT Ad—aH HfawITo B |
Options :

I % $Ia

2.« JfdTU

3. % Ry

4. % PICH

Question Number : 38 Question Id : 25498924646 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is a fifth generation language?
Options :
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1. % COBOL
2. % LISP
3. % Java

4. ¥ BASIC

Question Number : 38 Question Id : 25498924646 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

g o @ 1 Iy e o1 uiee didh ¥ Fefia g2
Options :

1. * COBOL

2. ¥ LISP

3. % Java

4. ¥ BASIC

Question Number : 39 Question Id : 25498924661 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

An is also called a slate computer.
Options :

1. # iPod

2. % iPhone

3. % iMac

4. ¥ iPad

Question Number : 39 Question Id : 25498924661 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Bl We HeR W HET S g |
Options :
1. #® iPod
2. ® iPhone
3. % iMac
4. % iPad

Question Number : 40 Question Id : 25498924670 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following is/are characteristics of the Internet of Things?
A. Connectivity

B. Dynamic and Self-Adapting

C. Scalability

Options :
1. ¥ BothAand B
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2. % BothBand C
3. % BothAand C
4.9 Allof A, B, C

Question Number : 40 Question Id : 25498924670 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

ﬁ'ﬂﬁf@ﬁ pe i) aa:fiﬁ 3?@? 3T g (Internet of Things) CARGRILGI] %%‘7

A. Frfaeide (Connectivity)
B. =i 3R STH-3JP T (Dynamic and Self-Adapting)
C. IO (Scalability)

Options :

1. % A SR BGH!
2. % B3R CEH
3. % AR Al

4. A, B, CgHI

Question Number : 41 Question Id : 25498925210 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
is a set of programs that are used to manage the database.
Options :
1. ® Hardware
2. ¥ Software
3. % Administrator

4. % Data

Question Number : 41 Question Id : 25498925210 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
T &1 U U< &, Sl ScIad &I Yaftid = & o Iugad gial o |
Options :
1. % GERR
2. ¢ FRIWR
3. % TelfAdeR
4. % Sa

Question Number : 42 Question Id : 25498925274 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
is a computer network organised by an individual for personal use.

Options :
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1. # Local Area Network(LAN)

2. # Metropolitan Area Network(MAN)
3. ¥ Personal Area Network(PAN)

4. % Wide Area Network(WAN)

Question Number : 42 Question Id : 25498925274 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

AR SUIRT & 7T Ugard 14 aTell HReR Acadh =18 H I I 91 g7
Options :

1. # Qihd URATAead (LAN)

2. % Heifered TRar Hedd (MAN)

3. ¢ THAd URAT Aedd (PAN)

4. % gI3S URATAeddH (WAN)

Question Number : 43 Question Id : 25498938393 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which generation of computer languages includes Structured Query Language (SQL)?
Options :

1. ¢ Fourth Generation Languages(4GL)

2. # Second Generation Languages(2GL)

3. ® Third Generation Languages(3GL)

4. % Fifth Generation Languages(5GL)

Question Number : 43 Question Id : 25498938393 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

He HTI3T & forg fidh & wwaas Ht da (SQL) 2fAa 72
Options :

1. ¢ B SFRRA Tidelol (4GL)

2. % JYPHg TR AW (2GL)

3. % YT TRYE e (3GL)

4. % T TRTA AdoST (5GL)

Question Number : 44 Question Id : 25498941575 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The ASCII value of ‘a’ in decimal is
Options :

1.¥ 97

2. % 65

3. % 98
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4. % 66

Question Number : 44 Question Id : 25498941575 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
‘a’ BT ASCII HI AT H -1 gITT?
Options :

1. ¥ 97

2. % 65

3. % 98

4. % 66

Question Number : 45 Question Id : 25498941579 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The octal equivalent of binary number 1111 is
Options :

1. % 15

2.% 14

3.¥ 17

4. % 16

Question Number : 45 Question Id : 25498941579 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fG3TURT (Binary) ST 1111 &1 ¥ THI T BRI
Options :

1. % 15

2.% 14

3.¢17

4. % 16

Question Number : 46 Question Id : 25498941593 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following Excel formula will find out the minimum value from the range D1 to D6?
Options :

1. ¥ =MIN(D1:D6)

2. % MIN(D1:D6)

3. ¥ =MINIMUM(D1:D6)

4. % MINIMUM(D1:D6)
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Question Number : 46 Question Id : 25498941593 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fafiRad & ¥ &I 91 Excel BIHA D1 ¥ D6 A% & gATH A BT Tdl AT

Options :
L =MIN(D1:D6)

, % MIN(D1:D6)
;% =MINIMUM(D!:D6)

, % MINIMUM(D!1:D6)

Question Number : 47 Question Id : 25498941599 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

With respect to DBMS, lowest level of data abstractionis  Level.
Options :

1. # Logical

2. ¥ Physical

3. % View option

4. ® Representation

Question Number : 47 Question Id : 25498941599 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

DBMS & I&Y ﬁ, EEE GBI (abstraction) T YIdH X % |
Options :

1. % qifidbd

2. ¢ fibfoiehat

3. % o 3H

4. % JYSICH

Question Number : 48 Question Id : 25498941620 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The table is used to summarise or analyse data in large tables in Microsoft Excel.
Options :

1. % Data

2. % Reference

3. ¥ Pivot

4. % Quick
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Question Number : 48 Question Id : 25498941620 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

ATt BT SUANT Microsoft Excel H a@ﬁ difcrTefl # ST & ORI (summarize) 9l IEESLL] (analyze) BB forg
foraT S 21

Options :

1. % Sl (Data)

2. % IG3Y (Reference)
3. ¢ fUdiT (Pivot)

4. % f&d (Quick)

Question Number : 49 Question Id : 25498941624 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

COBOL stands for Common Oriented Language.
Options :

1. % Basic

2. # Beginner

3. ¥ Business

4, % Based

Question Number : 49 Question Id : 25498941624 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

COBOL &1 JUl &Y, 1 3fYEes dae g |
Options :

1. % d9fp

2. % fafi R

3. ¢ oo

4. % ST

Question Number : 50 Question Id : 25498941628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The ASCII value of 9 is

Options :

1. ¥ 57

2. % 97

3.% 32

4, % 65
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Question Number : 50 Question Id : 25498941628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
‘9’ BT ASCII 7 &1 57

Options :

1.+ 57

2. %97

3. % 32

4. % 65

Question Number : 51 Question Id : 25498941640 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to computer hardware?

Options :

1. # It consists of electronic components like ICs, diodes, registers, crystals, boards, insulators, etc.
2. # It is mostly constructed for all types of computer systems.

3. # It includes physical components of computer system.

4. ¥ It can understand only high level language.

Question Number : 51 Question Id : 25498941640 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

HIR gTeaR & e H FAgfeiad & & &1H9-91 7Ted (FALSE) 82

Options :

1. % T TS, SIS, AWeR, forked, A1, SYaieR NS SR Faae e gedh Bl & |
2. % U8 TR Gt TR & Hugex Red & oy s man |

3. % 39 e Red & Wifde geh WA 8 |

4. U8 $HId I WA HIN DI g1 T Thdl |

Question Number : 52 Question Id : 25498941644 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which language is optimised for web and internet applications?
Options :

1. Java

2. % Cobol

3. % C++

4. % C

Question Number : 52 Question Id : 25498941644 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Java

2. % Cobol

3. % C++

4. % C

READING COMPREHENSION

Section Id : 2549897855
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897896
Question Shuffling Allowed : No

Question Id : 25498921247 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

New Delhi, 21 May 2016: A day after Rajasthan’s Phalodi recorded the country’s highest temperature ever of 51° C, the India
Meteorological Department (IMD) said the frequency of severe heat waves had increased sharply in the past 15 years.

Most heat-affected states have no plan in place to prevent deaths associated with extreme heat.

The IMD official said that the frequency of both, heat waves and severe heat waves has increased in the last two decades. The
reasons could be related to climate change, urban island effect or others.

IMD declares heat wave when the maximum temperature of a station is 40° C or more or when it is 4.5 to 6.4 degrees above
normal or when it hits 45° C. Severe heat wave is declared when the maximum temperature hits 47° C or when it is 6.5° C more
than the normal temperature.

The Indian Institute of Public Health (IIPH) has developed heat action plans for Ahmedabad and helped cities in Maharashtra
develop theirs. It has advised the Union Health Ministry to ensure that similar plans are implemented in all states affected by heat
waves. As of now, Maharashtra, Gujarat, Telangana and Andhra Pradesh have started a heat action plan.

“Mortality increases as soon as there is a heat wave. For instance, on Thursday when it recorded 48° C in Ahmedabad, there were
130 deaths compared to 100 deaths daily on an average. During the 2010 heat wave there were 310 deaths in a day and about 800
deaths in the following week,” said The Director of [IPH, Gandhinagar.” Since the frequency of heat waves is increasing due to
climate change, we have been pursuing the implementation of heat action plans with the government. Ideally, the local government
administration or municipalities should be in charge of it,” he added.

Sub questions
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Question Number : 53 Question Id : 25498921248 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The given passage is:

Options :

1. # an article

2. % areport

3. # an editorial

4. % anews item

Question Number : 54 Question Id : 25498921249 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Under what condition does the IMD declare severe heat wave conditions?
Options :

1. ¥ When the maximum temperature hits 45° C

2. % When the temperature is 6.4 degrees above normal

3. ¥ When the temperature is more than 40° C

4. ¥ When the temperature hits 47° C or more

Question Number : 55 Question Id : 25498921250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
The purpose of a heat action plan is to:
Options :

1. # bring the temperature down

2. ¥ curb the deaths due to heat

3. # implement the plan in a city

4. # stop climate change

Question Number : 56 Question Id : 25498921251 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following states has NOT yet started a heat action plan?
Options :

1. ¥ Rajasthan

2. # Telangana

3. % Maharashtra
4. % Andhra Pradesh

Question Number : 57 Question Id : 25498921252 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Which agency is responsible for implementing a heat action plan in a city?
Options :
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1. #* India Meteorological Department
2. % Indian Institute of Public Health
3. ¥ Local government administration

4. % Union Ministry of Health

Question Id : 25498921247 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

fau 7T T BT U 3R I MYR WR UL & IR

Ts faell, 21 A3, 2016 : ISR & Wallal A 59 a7 321 &1 3@ b o1 G 1T dIaH 51 f5ht Sfcray oo far man,
I 31 T o a1g YRR JRH faUTT (IMD) 3 Fet for forsa 15 auf & mlf ot 1ramies e bt 3gfy ool ¥ 94t ]

iR Tl T gHifaa st 7 srcafdies T § giRaTel Hidl & Ap & T IS Ao T8l B

IMD & fBRY 3 gT o fUea & gxien! §f miif &) @Rt 3R TR d10 @i, a1 &b 3Mgfy 96 718 § | HRUN STadrg uRdd,
e 19 TUTa A7 31 T e 8 ghd B |

IMD TTH &1 T8 T d8 Bl & ofd fobeft = b1 SHhas dargHr 40 fSUt Afetray a1 ITY i gia § 1 91e Ug
AT W 4.5 9 6.4 &3 Sarer g1a 8 o1 919 g 45 foht AR 9o uga S 81 ifteaw T ) dex a9 9ifd @ oIt §
e TR AIAM 47 FEUt S a1 IR dqdH ¥ 6.5 TS S oifie g srar g |

f$T SXeye 3T ufsdis ged (1IPH) 3 SBHETETE & fot ge UaRH WH daR far § 8l & U] DI 3D @
IR B3 A Hae B 7| T Hed W HACH D! T8 AT B 1 Tare <l ¢ & Tl bt gt & menfaa ot et
A IS AR S| e Tb HERTY, ORI, AT 3R 31iY TR A ie TaRH W B Aol F HR & 5

TTHY ) e S 8§ @R §¢ ST 8, I<TeR0 & 7S, THaR B! o 3gHerare H 48 3 A o foar man, o shaae

100 HIA Pt g1 H 130 A 83 A1 2010 B} T B} TR &b SRE T 37§ 310 A 3R 3FTA S AHT 800 HId g3 1" 1IPH,

TR & A= 3 I8 Fel, WY g S=11 Hel "I STaarg gRad & SR TH Bt T8 bt 319l 9 T8 8, STleie gH

ﬁwﬁ%mweéuq&m W &1 HRAGI R IE 8 | G T I RIF ISR TR T TR U1 &l SHqab1
||l

Sub questions

Question Number : 53 Question Id : 25498921248 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

S RIS gl

Options :
1. % o9
2. % RUié
3. % HUGHIY
4.« JHARR Hq

Question Number : 54 Question Id : 25498921249 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

mMD g uRfRufaar & Mk Tl &t aer ot fRufa oiftg sar g2
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Options :

1. % 9§ 3ff¥par araqH 45 oot Afcmmg gar g

2. % T 99 I Y 6.4 TSR S BTl

3. % S dIAM 40 f&If Afcrag @ 3if¥e g gl

4. & A 47 T&50 g a1 IO 31 81 ST |

Question Number : 55 Question Id : 25498921250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
BIc TaRH W &1 322 8:
Options :

1. % QYA b1 HH BT

2. ¢ Tl & HRUHIG! B AT

3. % Y UD R T ARL AT

4. % J@drg IR &I AT

Question Number : 56 Question Id : 25498921251 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

frafeiRaa & T foo wrai 7 snft as g TorH wWH YR 61 fhar g2

Options :

1. ¢ ISIYT
2. % qQTH
3. % HERIY
4. % YT

Question Number : 57 Question Id : 25498921252 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

TR A gic TaRM @H a4 & g $H1F-3 woledt iR 82

Options :

1. % YRT ArgH faumT

2. % ST SIS TP ufsdT®d g
3. ¢ R IRBRT YR

4, % Do WY T

QUANTITATIVE APTITUDE
Section Id : 2549897856
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 6
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Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897897
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928800 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

What approximate value should come in place of the question mark (?) in the following question? (You are not expected to find out
the exact value.)

1548.45 +3065.15 + 15.058 = ?
Options :
1. % 1700
2. % 1650
3. % 1840
4. % 1750

Question Number : 58 Question Id : 25498928800 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
ol e & woa e (7) & Tus W AT A &7 g1 Ae? (AT Weled Al
TMOTAT FET FET 2N)

1548.45 + 3065.15 = 15.058 = 7
Options :

| % 1700
5 % 1650
3 % 1840

4« 1750

Question Number : 59 Question Id : 25498928812 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following,

(833.25-384.45)+24=7
Options :
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1. % 1.87
2. % 20.1
3. % 2.01
4. 18.7

Question Number : 59 Question Id : 25498928812 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

FafaRad & vy forg (2) & I IR 37 311 18T

(833.25-384.45)+24=7
Options :
1. % 1.87
2. % 20.1
3. % 201
4.9 18.7

Question Number : 60 Question Id : 25498928934 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following?

4096 - V64 = 32
Options :
L% 16

). % 8
3‘\-_/64

N

Question Number : 60 Question Id : 25498928934 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fgferaa o us o (2) & RIF IR 1 T A1
V2096 = V64 = 17
Options :

1% 16
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Question Number : 61 Question Id : 25498929027 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

35 kg of Type A sandal powder, which costs 2614 per kg, was mixed with a certain amount of type B sandal powder, which costs
%695 per kg. Then the mixture was sold at the rate of 3767 per kg and 18% profit was earned. What was the amount (in kg) of type
B sandal powder in the mixture?

Options :
1. % 24
2.9 28
3.% 32
4, % 36

Question Number : 61 Question Id : 25498929027 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

35 fHARITH Type A Ta UTISR, FoRI®! S1Hd 2614 Tl franmd 8, 39 T RS A1 H Type B a9 UrdeR & I1y firaman
T, et S 2695 Ufd feam g1 fb frsmr &Y 2767 Ufd fHaium o) g 3 o= 77 3R 18% A1y 3ifofd far |
Y0 o Type B a1 Urdex &t AHT (fdbal o) 31 o

Options :

1. % 24

2. ¢ 28

3. % 32

4. % 36

Question Number : 62 Question Id : 25498929103 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The average of the first thirty natural numbers is :
Options :

1. % 135

2.% 145

3.9 155

4. % 16.5

Question Number : 62 Question Id : 25498929103 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes
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Correct Marks : 1 Wrong Marks : 0

T I UThfads Seatt &1 T 3id 82
Options :

1. % 135

2. % 14,5

3.¥ 155

4. % 16.5

Question Number : 63 Question Id : 25498929361 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In a seminar, the number of participants in Hindi, English and Science are 60, 72 and 108, respectively. What is the minimum
number of rooms required, if in each room, the same number of participants are to be seated and all of them being on the same
subject?

Options :
1.9 20
2.% 15
3.% 11
4. % 10

Question Number : 63 Question Id : 25498929361 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
UH AFFR A, ), 3eh iR fagm & ufqunfiral ot T U 60, 72 3R 108 B 1 IfS Ud® HHR H T T o
TR &1 3T ST 3R & it Uep &1 fawa & 81 ot SRl &1 =gras IRe fasat gt anfee?

Options :

1.9 20

2.% 15

3. % 11

4. % 10

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897857
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897898
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Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910063 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?
Options :

1. ® People

2. % Penitent

3. % Pepsin

4. ¥ Penury

Question Number : 64 Question Id : 25498910063 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

a&%?naﬁﬁﬂﬁ%l gfe it T3l DI TH TGH I & SIUR JUITIHH H Hafedd fohar SiTdT &, df gaR I IR S 1 s

Options :

1. # People

2. # Penitent
3. % Pepsin

4. ¥ Penury

Question Number : 65 Question Id : 25498910135 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Karnataka : Gold :: Madhya Pradesh : ?
Options :

1. ¥ Diamond

2. % Tron

3. % Copper

4. % Gems

Question Number : 65 Question Id : 25498910135 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

39 faered o1 989 B S dR U St I TSR Faifdid & o gORT US U8 U 3§ Taifed 3
FHACH : AT HA UG : 2

Options :
1. ¥ BRI
2. % Wlgl



7/15/24, 6:16 PM Online Question Paper PDF Preview

3. % didr
4. % 3@

Question Number : 66 Question Id : 25498918993 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Select the option with the words that can sequentially fill the blanks in the given sentence.

~__'isrelated to 'Animal' in the same way as 'Rind' is related to'
Options :

1. * Husk; Nut

2. % Man; Hard

3. # Husk; Melon

4. % Skin; Melon

Question Number : 66 Question Id : 25498918993 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

39 sl & 1Y ey &1 T &3 o fau TN a1e A Rad WiF &1 Hie U d W Johd 8l
IR 2 i1 e DAk K F e e I RAT R TU a2 KA A |

Options :

1. % &t -

2. % OHd - R
3. % I - e
4. IS - RS

Question Number : 67 Question Id : 25498919004 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner, and is therefore a part of the group.

Rice : Wheat : Maize
Options :

1. ¥ Jowar

2. % Tobacco

3. % Jute

4. % Cotton

Question Number : 67 Question Id : 25498919004 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ SdRR
2. % ddTp
3. % 9
4, ® pUNY

Question Number : 68 Question Id : 25498919840 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner, while the fourth one is different. Select the word that is
different.

Options :

1. % Sparrow
2. % Swan

3. # Parrot

4. % Koel

Question Number : 68 Question Id : 25498919840 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A =R wreg fau 7Y § 39 A i e bt atich | Web- I UT ATl € Qe 1S Ueb T Weq 31 i @ i 81 S fir
(3118 d-) RMsq DT UdT T |

Options :

1. % fofgan

2.¥ 89

3. % diar

4. % DI

Question Number : 69 Question Id : 25498939949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

The given question consists of five statements labelled from A to E, followed by options consisting of three statement labels put
together in a specific order. Select the option that indicates a valid argument containing logically related statements, that is, where
the third statement is a conclusion drawn from the preceding two statements.

A: All heroines are pretty.

B: Some heroines are popular.
C: Shweta is pretty.

D: Shweta is a popular heroine.
E: Some popular girls are pretty.

Options :

1. ¥ ABE
2. % ACD
3. % DCA
4. % EDC
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Question Number : 69 Question Id : 25498939949 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

fRu U Uy & A T E 9% A9d fPU U Ui HYF §, 39 d1¢ U AP HH § T 1Y 3@ 7T 395 A9d & =0 § dF Sy
ardl faped g1 39 faed &1 70 &% Sl difid e 30 § e fd Byl aTel U 9 T bl ST Rl §, 3rfd, STgi R e
fUsa < Byt A T mar fshy g |

A: g4t ARG geR 8
B@G'Iﬁ-lefaﬁm%l
C: %T‘TTW%I

D: 41 T& Ul ST 6
E: $& UG dsidl Yar 5

Options :

1. ¥ ABE

2. % ACD

3. % DCA

4. % EDC

GENERAL AWARENESS

Section Id : 2549897858
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897899
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498912815 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

In IPL 2009, the two players who took a hat-trick were:
Options :

1. % A. Symonds and A. Nehra

2. ¥ L. Balaji and Harbhajan Singh

3. ¥ Rohit Sharma and Yuvraj Singh

4. # R. P Singh and L. Malinga
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Question Number : 70 Question Id : 25498912815 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

3METTS (1PL) 2009 F 9 & § fb1 <) fenfeai 3 @fce: oft oo
Options :

1. % T RS 3R T A

2. % T, STelrol 3R gRUS Rig

3. ¢ fea THf IR gavT R

4. % R .UT R SR Ta. Al

Question Number : 71 Question Id : 25498922834 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a small pore found in the body of sponges?
Options :

1. ¥ Ostia

2. % Osculum

3. # Redulla
4. # (Cilia

Question Number : 71 Question Id : 25498922834 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Fofed & 9 ®F 91 WS & IRR F U1 S a7 T Biel {55 672
Options :

1. ¢ SHIRET (Ostia)

2.8 &W (Osculum)

3. % G (Redulla)
4. % TR (Cilia)

Question Number : 72 Question Id : 25498932029 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Shovana Narayan is a reputed personality in which of the following fields?
Options :

1. #¥ Literature

2. # Journalism

3. % (Classical dance

4. % (lassical music

Question Number : 72 Question Id : 25498932029 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
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N1 TR Ffeiad & @ foog & &) T URTg gl 82
Options :

1. % OIfed

2. % TFBIRAT

3. ¢ QA T

4. % YA T

Question Number : 73 Question Id : 25498932424 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was the founder of Dev Sama;j?
Options :

1. # Vallabhbhai Patel

2. ® Dadabhai Naoroji

3. ¥ Shiv Narayan Agnihotri

4. % Ram Krishna Paramahansa

Question Number : 73 Question Id : 25498932424 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

<4 IS & HRIUS Fafeiad § 3 & 9
Options :

1. % JEIHHTS Ucd

2. % GIGIUTS RIS

3. ¢ TRI9 ARI ST

4. % JH PU RAGYH

Question Number : 74 Question Id : 25498932520 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
Open market operations of RBI refer to buying and selling of

Options :
1. ¥ commercial bills
2. % foreign exchange
3. % gold

4. ¥ government bonds

Question Number : 74 Question Id : 25498932520 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0
YR Ro1d §% o1 Gal IR uRare (3= Hrdhe gaTe) foraas! TRie iR et & Taiftd g2
Options :

1. % grforfeuds foe
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2. % fad=i gar
3. % g
4. ¥ WIRI §S

Question Number : 75 Question Id : 25498933634 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

A committee appointed in the year 1977 to review the working of the Panchayati Raj was chaired by:
Options :

1. # Balwant Rai Mehta

2. ¥ Ashok Mehta

3. % K.N Katju

4. % Jagjivan Ram

Question Number : 75 Question Id : 25498933634 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes

Correct Marks : 1 Wrong Marks : 0

qv 1977 H U I & BIHBIS D FHIET o o e ot 118 AR ot sregefar g o @ fovem ot ot
Options :

1. % Sefdd g Hedl

2. ¢ 3R Hedl
3. % H A DI
4. % STSilaH IH
English Mock
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Group Id : 2549894949
Group Maximum Duration : 5
Group Minimum Duration : 5
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Group Marks : 0
English Mock
Section Id : 2549897859
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory

Number of Questions : 1
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Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897900
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498941117 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.
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Show Attended Group? : No
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Break time : 3
Mandatory Break time : Yes
Group Marks : 0

English Typing Test

Section Id : 2549897860
Section Number : 1
Section type : Typing Test
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Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Maximum Instruction Time : 0
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Sub-Section Id : 2549897901
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498941464 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

There used to be a time when the domain of work and personal life was clearly distinct. But with globalization becoming the
norm of the day the chances of work encroaching into personal life and vice versa has become alarming. Life will be always
demanding and may not slow up any time soon. Learning to strike a balance between work and life is an ongoing art.
Balance between work and life is a broad concept including proper prioritisation between work and life. Life can include
both health and leisure. It is also related to lifestyle balance and life balance. Sadly there is no perfect one size fits all
balance you are looking for. It is different for each of us because we all have different priorities and different lives. Trying to
schedule an equal number of hours for each of your various work and personal activities seems unrealistic and robotic. Life
is and should be more fluid than that. The paradox is that right balance for you today will probably be different tomorrow
say when you are single or when you get married or when you start a new career or are nearing retirement. At the core of
an effective work and life balance are two key concepts that are relevant to all of us. They are daily achievement and
enjoyment. Achievement and Enjoyment are the front and back of the coin of value in life. Trying to live a one sided life is
why so many successful people are not nearly as happy as they should be. Engraining a fuller meaning of these two concepts
is like half the battle won to define a positive Work and Life Balance. Most of us already have a good grasp on the meaning
of achievement. But enjoyment is not restricted to simply joking around and laughing. It means pride and satisfaction as
well as love and a sense of wellbeing. In a nutshell it means all the joys of living. Corporate world today has become
exceedingly demanding. The changing economic conditions and social demands have changed the nature of work
throughout the world. The balance between work and life has become unbalanced within the ramped up competition of a
round the clock business cycle. The imbalance also has a negative impact in the personal life of working people like
increasing number of divorces and infertility due high stress levels etc. Organizations today to some extent have realized the
importance of the work and life balance and how it increases the efficiency of the employees. In offices efforts are being
made to provide a friendly work atmosphere for the employees. The employees are given the freedom to have their own
ways of doing the work. Organizations focus on grooming their employees who are now not considered merely a work force
but regarded as the Human Capital of the organization. Hence the concept of Work life balance is becoming more and more
relevant in an ever dynamic working environment. The role played by the individual is as important as that of the
organization in managing this tumultuous see saw. Be sure to remember that striking a work life balance is a continuous
process rather than a one shot deal. If there is a tilt in the balance there are chances of soaring stress levels.
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Hindi Actual
Group Number : 5
Group Id : 2549894952
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Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0

Hindi Typing Test
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Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes
Maximum Instruction Time : 0
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Calculator : None
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